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For a frequency distribution standard deviation is
computed by using the formula

¥ f(x-%) _ fix-x)
() e Ef‘ b a= Zf
3 I(x=%) ZH‘{—M

EBHU-2011

Which one of the following statement is true for a given
distribution 7
(a) Mean deviation > Standard deviation
ib) Mean deviation > Stahdard deviation
(¢) Mean deviation = Standard deviation
(d) Mean deviation and Standard deviation are not
related B
BHU-2011

In casc of bionmial distribution, probability of
successes is given by
{ﬂ} ncr r:|:|-r I_.:Ir

|:C:I II':r -pn-r

I{b} n‘:‘r pn-r ql
(d) "C, g™ A
BHU-2011

The standard deviation for Poisson distribution with
parameter mis

(a) m ) Jfm
1 1
(c) n {d) ﬁ : B
BHLU-1011
For a normal distribution, we have, . D

(2] median = mode
(d) mean ~median = mode
BHU-2011

{a} mean=median
¢y mode=mean

The value of the correlation coefficient between two
variables lies between - -
by —eand + =

{a) Qand=
(c] Oandl {d) - landl D
_ BHU-2011
The coefficient of regression of X and Y for the data
Series X Series Y
Average 25 2
S.D. 4 5
is
(a) 100 {by 054

ey 04 {dy 03] W
BHU-2011

In simplex, when the number of non-zero variables is
equal to the number of constraints, the set of values is

11

said to form a :
{a} Feasible solution (b Basic solution

{c) Iso-cost solution (d) Optimal solution

BHU-2011

The lincar programming problem Maximine z=4x + ¥
subject to Ix+ Sy =15,
Sx+5v<15,
—x +y=2,
4x+ 3y =20,

X, ¥ =13has

{b) one solution

{dY Finite solutions
BHU-2011

The resultant of two forces P, @ acting at a certain

angle is X; and that of P. R acting at the same angle i8
also X. Then the value of P is

() Mo solution
fe} Infinite solution

(@ JOr+RX (b) yR*+0X
© JXxI+or i) JOR(Q+R)
BHLU-2011

ABCDE is pentagon, Forces acting on a particle arc
represented in magnitude and direction by AB. BC.

CD. IDE. AD.and AF . Their resultant is given by

{ad  AE (h) SAE
£ 3AE (d} FAF

BHU-2011

Which one of the following is not a force

{1) Tension (b} Attraction

{c) Weight {dy Acceleration
BHU-2011

Twa like parallel forces Pand ( act on a rigid body at
A and B respectively. [T P and ( be interchanged in
position, then the point of application of the resultant
will be displaced through a distance (along AB)

P+0 P-0
{a) _P—Q AB (h) F_;—QHB
(c) (P Q)AB {d) {P+Q)AB

BHLU-2011

A beam whose centre of gravity divides it into two
portions, a and b, 1s placed inside a smooth sphere. Lf
& be its inclination to the horizon in the position of
equilibirium and 2o be the angle subtended by the
beam at the centre of the sphere. then

h—a
(@) tnB=(b-a)(b=a)anafp) WO ENe

b+a

ande () tan® : tan

|
(c) mnﬂ_—r{h—a}[b-raj t

—4

BHU-20LI
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15, P, Rare the points on the sides BC, CA, AB of riangle

ABCsuchthat BR: PC=C0Q  QA=AR:RB=m:n I

A denote the area of the triangle ABC. then the forces

aAp; ﬁﬁ._ CR reduce to a couple whose moment s

p SALELLITYYY Em +n.-"';
@ ® “mn
() Z(m*—-nA {d) 2{m?+n¥1A

BHU-2011

16, Two unlike parallel forces Pand G (P = 0}, xm apan act
af two points of a rigid body. 1f the direction of P be
reversed, then the resnltant is displaced through the

distance
{a] 2PQxm (b) (P*—0}xm
2PQ 2P0
€ gl @ P gz
BHU-2011

17 If the resultant of two forces P and O acting at a point

atananglecis (2m+ 1) JP? +0? and when they act
fn 1
at an angle E“IJ the resultant becomes (2m — 1)

] ]

{a) tana= 77 (b) tano= =1

m+l m—|

{c) tana= 77 (dy tan o= Tl
BHU-2011

(8. To a man walking at 2 km/hr the rain appcars to fall
vertically when he increases his speed to 4 km'he it
appears to meat him at an angle of 457, Then the actual
velocity of rain is

(1) 7 kmvhr th 3 kmhr
(€} 27 km'r {dy ;:J:#_, km/hr
BHU-2011
19, Accileation of a moving point is
(a] Tension {b} Atiraction
(c) Weight (d) Acceleration B
BHU-2011
2. If a body is falling freely under gravity, then the
acceleration :
{#) Tszero (b} Is uniform

{c} Varies as the'square of the distance travelled
{d} Waries as the inverse of the distance travelled
BHLU-2011

. 21. A point moves with uniform aceclerationand v, v, v,
denote the ‘average velocities in three successive
intervals oftime 1, t,, t,, then

Vi=¥a 11 +1iz
A {t

‘b"|+\"2 o l] "r1.1
{aJ ¥o— ¥y ‘3+l] ‘-"2+"-'3 t:'l'[_‘;

vityvy bt vi—vr _4i—t
{C} 'v'z -!-"n"_'q__ tz—[}_ "f'?_—‘r"j tl—t}
BHU-2011

A mass m is acted upon by a constant force B Ib. wit.
under which in 1 sec it moves a distance of x feet and
acquires a veloeity v ft'see. Then x is equal 1o

gF_ me
() 2mt2 () ISP

2 2

gr My
) - d
o @ Zep

BHU-2011

Masses of 5 kg and 3 kz rst on two inclined planes
cach of 307 and are connected by a string passing over
the common vertex. After 2 seconds the mass of 3 kg is
removed. How far up the plane will the 3 kg mass
continge to move 7

2 3

(a) M (by zm

a .l

4 3

i} —m (dy —m

7 8
BHL-2011

The time ol Might of a particle, which is projected with
veloetty u in a direction making an angle o, is given by

{3) 2 ug sing {b) 2 ug coso

2 g sing 2 ug cos

() T (i)
BHU-2011

25 I aparticle is projected with a velocity u at an angle

=43 then
{2) Theranye is minimum
{b) The range is maximum

| =
¥}

{c)  The range is maximum and equals

[t
ir=

C

(d)  The time to the highest point is

BHU-2011

i

Direction ;

(Cruestion Mos, 26-307 1 Data on the candidates, who ook
an examination in Social Sciences. Mathematics and Science
are given below

Passed in all Subjects 167
Failed in all Subjects

Failed in Social Sciences 173
Failed in Mathematics 199
Failed in Scicnce 191
Passed in Social Sciences only a2

Passed in Mathematics only 48

Passed in Science only 3

Answer the following questions based on ahove
data : BHU-2011

INSTGHT MCA CLASS
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26. How many failed in one subject only 7

{2) 36 (by 6l
(c) 144 (d) 152

27. How many failed in two subject only ?
(a) % (b} &I
{cy 144 {dy 162

28, How many failed in Social Science only ?
(a} 13 by 21
ey 30 (d} 42

- 29, How many passed at least in one subject ?
{a) 167 (k) 304
(cy 3% (dy 450

30, How many passed Mathematics and at least in one
more subject 7

(@) .t {by 170
(o) 203 {dy 210
Direction :

{Question Nas. 31-33) : These guestions are based on the
diagram given below. In the diagram, the triangle stands for
graduates, square for membership of professional
orzanisations and the cirgle for membership of social
organisations. Read each statement and find out the
appropriate numbers to represent the people coverad by

starement : BHLU-2011

Lok

. Mumber of graduates in social crganizations is
represented by
fa) L ()3 {c)6 (d) 5andé o

32. Mumber of graduates in social organizations only is
represented by ;
(3 (b4 (@3 (e M)

33, Mumber of graduates in preofessional organizations is
represented by
{a) Sand? (by 4, 5and 6
(e Band?7 (dy 5.6and?7 A

M. A survey was conducted on a sample of 1000 persons
with relerence to their knowledze of English, French
and Germen. The result is presented in the Venn
diagram. The ratio of the number of persons who do
not know thethree languages to those who know all
the three languages is

English

tay 1.:27 (by 125
() 1/530 (dy 175710000 B
35, The following diagram, R represents businessmen, 3

represents rich men, T represents honest men. Which
number will represent honest rich men ?

@y 2 {by- 3
{e) 5 (dy 4 o

Direction :

{Question Mos, 36-40) © Which number should come in
place of question mark {7) in the following questions

(a} 8 &) 7
fc} 6 (d} 4 C
36, How many failed in one subject only 7
(@) 56 (B 61
{cy 144 {dy 152
BHU-2011
37
a 12 {by 26
(e} 16 {dy 2
BHLU-2011
38
{ay 12 (b 26
(c) 16 (dy 20
BHU-2011
IAYARYAR
L qv 24 | 1 7|13
(@ % (h) 36
(€) 2 {dy 117 B
BHU-2011
- &S
{ay 7 (by 343
e} 303 (dy 4 B
BHU-2011

INSIGHT MCA CLASS
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Directions :
Question Nos. 41-45 The following five questions are based

41.

43,

47,

48,

INSIGHT MCA CLASS

on the following diagram in which the triangle
represents female graduates. small circle represents self-
emplloyed females and the big circle represents self-
employed females with bank loan facility, Numbers are
shown in the different sections of the diagram. On the
basis of these numbers, answer the following :

,'

5
B

%

How many female graduates are self-employed ?

(@ 12 {by 13
cy I3 {dy 20 b
BHLU-2011
2. How many female graduates are not self-employed 7
(@) 4 i 1
() 10 {dy L3 A
BHU-2011
. How many non-graduates female are self-employed 7
@ 9 (by N
{c} 12 (dy 21 D

BHU-2011
How many self-employed female graduates are with
bank loan facility 7
(a)y 3
ey 12

by 7

(d) C
BHU-2011

How many non-graduates self-employed female are

with bank loan facility 7

(@ 3

cy @

{by &
(d) 12 A
BHU-2011

. If PERTLOUS is written as RGTKNOQWLI in a code

language then how will OLY MPIC be written in that
language ?

fa) QNOAKRE
() QNAORKE

(b) QOUNARKE

(d} QRKNOARE C
BHL-2011

IF*MASTER is written in as "4 12336  and *SERVANT”

is written as “2367183° then how will ‘REVERENT be

written in the same code language ?

(a) 63736385 (b 36733685

() %5336538 (d) 63536385 A

BHU-2011
If the code word of BOMBAY in a certain code is 58
then, what will be the code word for TROMBAY ?

5L

a2

53

A
e

36,

5

(a] 89
cy 9

(b} o

(dy # B
BHU-2011

In a cerain code language “MT' is coded as *f am

happy'. *“CTR as *That black happy” and *NPS" - I

very happily’. Then which word is used for ‘am’ ?

(] M by T

fc) P {dy C A
BHU-2011

IFCAT is coded as TC then how will sun be coded?

{a)y LN {by ™LI

Ly US (d) NS D
BHU-2011

In the following series, find the term in place of question

mark {7y 3. 8, 27, 112, 3637

{a} 3400 (b} 33%

(e} 15% {d} 2266 B
BHU-2011

In the following number series one number is wrong.

Eind out the wrong mymber -

015,22, 30, 40, 90, &0

(= 15 by 30

{c) 40 (dy 49 C
BHU-2011

Inthe following a missing term is to be find out { 7 )

DKM, FIF, HIS, 1HY, 7

{a} HGY

{cy K3Y

by IGZ
{dy 10 ¥

BHU-2011
Letters of which of the alternative answers when
placed at the blank places on after another will
complete the given letler-seres?
a — bbe¢ — aab -— cca — bbee
(a} acba (b} bacbh
(c} caba (dy abhba

BHU-2011

In the following question a number-serics is given,
Which one of the alternatives will replace the guestion

mark {77 4, 9, 19, 39 79, —7
(ay low (b1 159
(c) 119 (dy 139 B

BHL-2011
The headquarters of the World Health Organization is
located at : ?
{a) Paris
{cy Peru

(b} Geneva

{d) Chicago B
BHU-2M1

Who was the first Indian 1o be the President of ULN.

Cieneral Assembly 7

{a) Matwar Singh

e} Sme Vijai L. Pandit

(b} Ramesh Bhandari
{d}y Pandit J.L, Nehrs
BHLU-2{11
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38, Marketing of agricultural produce in India is through :
fa) Co-operatives {(b) Businessmen
iy Government (d} Individuals

BHU-2011
59, The first railway line was laid in India in :
{a) 1836 (b)) 1803
{e) 1853 {dy 1860
BHU-2011

0. The Vikram Sarabhai Space Centre is located at
{a)  Sriharikota {b) Trivandram
{c) Trombay {d) Bangalore
BHU-2011
Directions :
Question Nos. 61-62 : Tn the following questions, chuose
the word. which is most nearly the same in meaning to
the bold word and mark it in the Answer Sheet.

6l. Hisstyle is quite transparent.

(@} wverbose (b3 Tovolved

(&) Lucid (d} Wity C
BHU-2011
. 2. High. ,
{a) Tl (b) Short
{c} Thin {dy Fat A
BHLU-2011
Drirections :

Question Nos. 63-64 1 In the following questions, choose
the word, which is most nearly the OPPOSITE in
meaning to the bold word and mark it in the Answer
Sheet.

63. Lucy is a smart girl.
(a) Active
(ci Casual

(b} Indecent

{d) Lazy
' BHU-2011
65. Inthe following questions, the first and the last part of
the sentence are numbered 1 and 6. The rest of the
sentence is split up into four parts and named T, Q. R
and S. These four parts arg niot given in their proper
order. Read the sentence and find owt which part of
the four combinations 1s correct. Then find the correct
answer and indicate it in the Answer Sheet :

1 Religion has been used

P : bothasa {veapon af isolation

Q : todullawareness

R ¢ aboutreal problems

5 and asmorphia

6 like edncation, health and employment.
{a) PQRS {b) PSQR

(e} QPSR (dy RPQS

BHU-2011
6. The hearrt and the nerve centre of a computer is its
fa) Cutput unit (b} Toput unit

Gy

3.

&5,

L.

ELP

3

FES

Td.

6.

¢y CPU (di Memory C
BHU-2011

Main memory unit of a computer

fa) Performs arithmetic

{b) Stores a small amount of data and instructions

{cy Stores bulk of data and mstructions

(d) Supcrx:ises the working of all the unir B

BHU-2011
The modern digital computer uses

(a) Decimal system (by Octal sysiem

{cy Binary system (d) Al of thess C
BHU-2011

The base of the binary number system is

(a) 2 (k) 16

fe) & {dy 10 A

BHU-2011

Ten data items are to be read in a problem. The control
structure needed 1s
{a} Selection or repetition (b Only sequential
{c) Only selection
(d) Sequential or repetition

BHU-201L
Cisa
{a) High level language (b} Low level language
(¢} High level language with sume low level features
() Machine language C

BHU-2011
Which of the following codes uses 7 bits to represent
a character ?

(a) Output unit (b} Input unit

{cy CRU (d) Memory ®
BHU-2011

The Boolean expression X + X7Y equals

{a) X+Y {b) X+XY

() ¥Y+YX (dy XY r¥Y'X A

BHU-2011
Let A be a set having n element. The number of binary
operations that can be defined on A is
(a) 2v by not
{cy n" (dy 2

RHU-2011

. The Boolean expression (A + C) AR+ ACHACT - B}

can be simplified o
fa) ABR+AC
iy AB+BC

(bhy AB+BC
(d) AB
BHU-Z011
The harmanic mean of the roots of the equation
(5+ V2~ (4+V5)x+ 8+ 2N5=01is
(ay 2 by 4
iy 6 (dy B L]
BHU-2011
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INSIGHT MCA CLASS

The number of guadratic equations which remain
unchansed by squaring their roots, is

(a) Zero {b) Four
(c] Two (d) Infinite
BHU-2011
The mh terin of the series
2%* 1- l?:* IL I %+
2 p
(@) 5523 ® 5.3
A (S b T 20
(e 200n+3) {d) Sr3 A
BHU-2011L
The coefficient of x'* the pmdutt
o= 1Y2x - 2% -2 -1 (2% -1
is eugal o
{a} ZE0_ o () I _ iz
{c) 1 _ 105 {d} i A
' BHU-2011
(5in 227 - rcos 227
The value of ;21\51[] 7 FCos——— 7 ] is
(@) 1 b 2
(@ 2 () 22
BHU-2011
If 1, w, w, .. w are nth roots of unity, theo
(1=} {Tee®) . {1-w™'} is equal to
{a} n? (b} ©
ey I {dy c

BHU-2M1
The mumber of subsets of a set containing n distinet
ohject is
(2) "C,HC,*C+C +.C (b) 271
&) 2+ {d) *CC+C+.7C D

; BHU-2011

There are n numbered seats around a round table. Total
number of ways in which n, (n<n) persons can sit
around the round table, is equal to
@ 'Cy, ® P,
{c) _"Cnl | () "Pa -

BHU-2011
If the coefficient of x7 in the cxpansion of

1"
[px“ +:] is equal to the coefficient of 7 in
(X

1
1

the expansion of | X ——= | , then
gx

by (pigh=1
{d) p-gq=1

{2y pa=1
€) ptg=l

BHU-2011
In the bionomial expansionof (a — b)". n < 5. the sum of
the 5th and éth terms is zero, Then (a'B) cquals

i

88,

i

90,

al.

a3,

{a) (n-4}/5 (B} {n-5}/6
{cy 3/(n-4) (d) 6/(n-3)
BHU-2i11
X oxF xS
Ir|¥ ¥ 1Y =0, where x, v, z are unequal and non-
P S R
#ero real numbers, then syz is equal to
fa) 1 (b) 2
c}y -l (dy -2 =
BHU-2011

3
3| then AB is cqual 1o
]

® [i; l]

-3 3
€l |93 {dy |-93 B
BHU-2011
F=2-3
IfA= § ]? . then A is

() Symmetric matrix
matrix
{c) Asingular matrix

(b1 A skew symmetric

(d) MNon-singular matris [
BHU-2011
Ifx =14 {\"3 + 1}, then the value of expression 4x*+2x-
Bx+7equal o
tay 10 by 3
{cy O {dy -
BHU-2011
If the ratio of the sum of m terms and n terms afan AP
be m® 2 nt, then ils ratio of its mth and nth terms will be

m-n 2m- |
@ men (b} 2na
2m+| min
€ In+l (dy m=n B

EBHL-2011
Ifina G.P sum ol nterms is 253, the last term is 128 and

the common ratio is 2, then the value of n s equal to

{a) 2 by 4
ey 8 (dy le

BHU-2011
The value of 7 log{ 16133+ 3 low{25/24) + 3 log {(81/80)
is equal to
{a} O by log2
i€} log3 (dy logs B

BHLU-2011
IfA={ab.d,1},B={c,d f.m}and {a [,m o} thenC
S (AL B is given by
(2) {adlmj
(c)  fal.m}

(b) {b.c,f o}
(dy faboed, LlLmo) C
BHLU-2011
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" 44, The number of subsets of 4n n clementric set is
(a) 2n by n
c [dy A2 C
BHU-2011
IFA=1{1,2,3} B={4,5, 6}, which of the following are
relations from Ato BY
(@) {(1,5%(2,6),(3.4),(3,6)}
(b} {(1,6X(3,9)(5.2)
€ {(4.21(4.3).51) (d) BxA A
BHU-201
9. 1Ff={{1. 1} (2.3), (0, -1}, (~1, =3)} be a function
described by the formula f{x) = ax = b for some integers
a, b, then the value of a, b is
{(a) a=-1,b=3 & a=3,b=1
ey a=-1,b=2 {d) a=2,b==1 D
BHU-2011
" 07, A straight line passes through the pont P {2, 3} and
makes an angle of 602 with the x-axis. The lenght of
the intercept on it between the point P and the line

5

Nty =12 _
(a)y 1.5 (by 25
{cy .33 {d) 4.3 C

BHU-2011

08, The co-ordinates of the orthocentre of the triangle

formed by the lines 2x*- 2y* + 3xy + 3x +y = 1 =0 and
In+2y=1=0are

43 -3 -1
o (33 o (35)
1 4 21
o (23] o33 s

BHU-2(M11

9. The equation J(x? +4)° —4xy+4)+x=2y=|
represents a )
(@} Straightline
(ci Parabola

(b) Circle
{d) Pair of lines A
_ : BHL-2011
100. Two circles x* +y* = 5.and x* +y- 6% + 8 = 0 arc given.
Then the equation:of the circle through their point of
intersection and lJ_:e_poim {1,131
{a) xF+yi-6Xe+4=0 0 (b) xi+yi-3x+1=0
{¢) xt+yi-dx+2=0_  (d) vy -3x+3=0
: BHU-2011
101. An equilateral triangle is inscribed in a parabola y* =
4ax whose vertex is al the vertex of the parabola. The
lenght of its side is
{a) a3
{c) Fa3

(b} 2av3
(d) 4a\3 D
BHL-2011
102, Tfin ellipse the lenght of laws recturn is equal to halfof
major axis, then eccentricity of the ellopse is

(2) V32 {b) 12
(€} 2 (dy 13
BHU-2011
103. The difference of th focal distances of any point on

2 2

X j
the hyperbola —<——-=5=1 is
a” B

fa) a (b) 2a
& b {d} b B
BHU-2011
L04, Every homogeneous equation of second degree in x
and v represent a pair of lines

{(a] Parallel to x-axis {b) Perpendicular 1o y-axis

{c)  Bav3 (d} Paralleloy-axis C
BHU-2011
105, The value of Tim— 5+ ; (1+-]~]' is
5. The value o x[;'n B T .1_{1:1L~ e is equal to
{a} ®+1 {by m-)
€} w™ (dy 3 A
BHU-2011
0 ar x=0
= I
E—x+[_w.] if D=x -
1 !
x® =1 - il r=—
.f{ ) 5 if 3
10, 1f 5 1 then f{x)is
R R S
3 T2
! i x=l

(2) Continuousatx ="' (b} Continuousatx =1
(e} Cominuousatx =0 {d) Discomtinuousatx=0

BHL-2(11
(1=x] ((2x )
107. The derivative ﬂfsin"LHx'-' Jwrasin! LI_J_?JH
(&) -l (b} O
(e} Ux {dy « A

BHU-2011
108, The differential coelficient of x* is
(#) xlogx {t e'r fop « ¢ 'lel
(dy =x*' &
BHU-2011

{c) x{logx+1})

. T T
1089, The straight line —-+ E =1 touches the curve v = be™?
o

at the point

{a} where it crosses the y-axis

(b} where it crosses the x-axis

{cy (0.0} (dy (1.1 A
BHU-2011
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LLL.

112,

114

[ 6.

1"t

[18.

The equation of rangent to the curce ¥ = 28" —x* + 3 at
the point {1, 4) is
(a) y=2x
{e} y=dx

b) x=2¥

(dy x=dy C
BHU-2011

The length of the normal at the point (2, 4) 1o the

patabola ¥t =8x is

(my 4P

(c) 6

{by 4
{d) 243
BHU-2011
The normal to the curve
x=a{cos8+0sin @), y=2a(sin - B cos ) at any point
8 is such that it
{a) Passes through the origin
{b) Makes a constant angle with the x-axis
{cy  Makes a constant angle with the y-axis
(d) Is a1 constant distance from the origin

BHU-2011
. The function f{x} = sin % (1 + cos x) has a maximum
value when
] ]
@ x=7 () 37
{c) l”' {d) l” B
4 3

BHU-2011
The equation of tangent to the curce y* = 2% —x* + 3 at
the point (1, 4 is

119,

120,

122

1 I
I I
..... log 3 lepee 7
(c) 20 ug id) 10 og
BHU-2011L
The valume of a right circular cylinder of height h and
radius of base 4 is
-
{ay 7k (b) mrh
a
ey LR 1
e " —ar T
(cJ .-; s T {d} 2 '
" BHLU-2011

[f { denoted slant heightr, and r, denote the radii of the

frustum of cone, thén curved surface of cone is

{@ =nlir+r) by Yami(r —r)

{c; x=1 (d) me e, [fH{F+r )
BHU-2011

. The degree of the dilferential equation

7201
_.- 2

7 3 32
3+4[dy] +5 i ; @ 2
dx v

(a)
{c)

by 4
(d) & D
BHU-2011

L tad

2. The particular integral of the differential eguation

(D¢ -2D+ 13y =xe"sin % is given by

(@ x=_l ) l_:l fal e*sinix+1) _ b} x(u‘cas.x+ ain x)
2 2 (€ e (Xxcosx+sinx) (d} —e*(xsinx+2cosx)
€} x=1 (dy x=-1 B BHU-2011
BHU-2011 T RO A N
FA N g valle o 15
e {(D-3){D-2)
_.T!le_valueufjlngadj. is o5 e by e
(a) x{logx+1) (b) x(logx-1} €] —-xe» (d} —2xe™ b
el logx{x+logx) (d) x{x=logx) B BHL-2011
BHL-2011 124. Solution of the differential equainn
tan " x et
The value of _["' —dx is e }dx ” H sn !rjdy u . i
; 1+x o {a) yew 's=tan'x+c (b) xe™'v=tan 'y+c
LiLik 1 q
{a) € by € {c) y=ran byetn lsse () y = x ¢an L B
1 I R
BHU-2011 125, Let the vectors c; .r_’} be the position vectors of
x=1 ) .
. - e s the vertices P, Q, Rmdtndnglc respectively, Which of
e vae .nt '[(I -3 F the following represents the area of the triangle 7
(@) 2log(x=2)+log(x-3)
(b} log (x—2)~Tog (x - 3) @ Slexs| Uoxe| o 2cxa
(&) logix—-}=log{x-3) 2] 2 2
() —Tom{x—2)+2log(x-3) D
BHU-2011 S
__4 (d) l aXbh+hXe+reXa D
” J- sin @ +cosd? 2
Thevalue of | 5 R
3 F+16sin28 BHU-2011
Rl e —113/3-K, First floor, Friends Colony, Swarcop Nagar Kanpur : Mobile : 9336108560 14
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126, 1f _ and p represent two adjacent sides E;g and

BET respectively of a parallelogram ABCD, then its
diagonals ;('_, and EL are equal to

@ Jth&a-h © i-p&LTs
{c) ;-rzg&;_zg {d):;-rb‘&z;-gﬁ.
EHU-2011

127, Let ABCD be a parallelogram, If . f.  be the
pasition vectors of A, B, C respectively with reference
1o the origin O, then the position vector of D with
relerence o O 15
@ a*bte ® ptea

- — ¥

& +*a-b (d} :4’5_; D

BHU-2011

128. {f two veclors ; and f:r are patalle! and have equal

magnitudes, then

{2) They are not equal

(b) They may or may not be equal

{¢) They have the same sense of direction

(d) They do not have the same direction B
BHU-2011 .

a

129.if . and E; are two unit vectors and 0 is the'angle
between them. Then  + 3 isa unit vectorif = °

n

{a) -'5"=if‘ {b) fﬁ'=;
T T
[ f=— H:-—
€} =7 @ =3

BHU-2011

130, Tf the position vectors of A and B are a and b

respectively, then the position vector of a point F which
divides AB in the ratio:1:2'is

— — — -

(@) g+ b ®) b+2u
3 1 ’ 3
3 .

BHU-2011
131 PointAis , 2. Pis , and Pdivides AB in the ratio
2:3. The position vector of B is

@ 25 -5 ® 5-2,

() ,-34 0 C
BHU-2011
132. . p implies only

fay =0
() 8-90°

(b) 3 =0

(d) either | =0Oor p =00or 0=90°
BHU-2011
133, 1 & be the angle between the vecots 4 [f—ﬁ] and

l,;'I' ..ll. +ﬁ.1hE]lBi$

= b
@ (h)

L | =y

{4y cos™' (1 { ﬁ) A

BHU-2011

Sy
(€} 4

134, If [:; f: E] is the scalar triple product of three
-1 " n [ L .
veclors . g and .. then[ , 5 . ]isequalto

@ p 5] (8 e

— b -k — h

© [p o gl @ [, 7 a0 c
BHU-2011

135. 1 B is the angle between vectors . and !r; . then

il

- 3l ==

axbl=la. | whentisequal to
(a) 0 (b) 45°
(e 1357 {dy 180°

BHLU-2011
6.0 =442 -4k h=—12i-6;+15k . then the

LThl b i [~ L]
weelors a- h ane

{a} Parallel
{c} Orthogonal

{b) MNon-parallel

{d} MNon-coplanar
BHU-201L

137.If the position vectors of three points are

L] ¥ -+ + L

4-2b+3c—2a+3h—dc,—Th+0c- then the
three points are
(a) Collinear
ity Mon-goplanar

ity Coplanar
(dd} Meither
BHU-2011

m I373-K, First floor, Friends Colony, Swaroop Nagar Kanpur : Mobile : 9336108560 =R



138 1F 4=2i42 -k B=6i—3j+24k-then 4y 5 willbe
aiven by

(@) 2;-2_}'-& (b} si-37+24

{e) x—m;‘—lsi & ivjvi
BHU-2011
139.1f i |d]=[B| then(@+ )@~ b)is
(a} +live (b} - tive
{c} .unity (dy Zero
BHU-2011

140. The vector 27 + j—4 isperpendicularto i —4j+ Ak .

il A isequal to

(ay 0 by -1
ey -2 (dy -3
BHU-2011
141, The value of cos 10% —sin 107 s
(a} Positive (b} MNegative
e} O {dy 1
. BHU-2011

142, If sin o = sin B, then the angle o and P are related by
(@ w=Inn+(-1Pp
€ P=na+i-1Vo

(b) =nm=x
{d) p={2nr)a+a

BHU-2011
g I-tan® 15
143. The value of Temnilse
N
@ 3 ® —
{c) 1 (dy 2
BHU-2011

|44. The general solutien of the trigonometrical equation
sinx +cosx=1is given by
fa) x=2nmn=0x1,:2, .

7
(by x=2nm+ ;,n‘-ﬂi 1,+£2, ...

e} x=nm+({-1p %—%.:h=ﬁi 1,22, ..

{d}y x=nm+{-1)" %,n; 0z l,+2,

i BHU-2011

145. From the top of a lighthouse 60 metres high with its
base at the sea-laviél, the angle of depression ol a boat

is 15°/ The distance of the boat from the foot of the

lighthouse is

N R .
@) [Eﬁ Glmetres (b} -u"-3-—| Glmretrey
4]

{d) 5

IREHres

-1
melras
+1

iR
e o

BHU-2011

3f 30 1
146 Ifsina=- = T<E <=7 | thenihe value of cos — <
LY 2

2
i5
] |
(1) ‘ﬁ (b} Ji0
3 =7
© Jo @ Vo
BHU-2011
147. The value of tan 97 - tan 27° - tan63% ~ tan 1% is
{ay 1 (k) 2
© 3 d 4
BHU-2011

48 Ina AABC,
cosec A {5in B cos C + Cos B sin C) equals
£ a
(@ = b 2
© 1 (dy 0
BHU-2011
149, Three coins are thrown together. The probability of
zetting two or more heade is

(a) (b}

b | —
P | —

s | b

() (d)

o e

BHU-201
150. The average of nonumbers x . %, %, ... x s A IFx is
replaced by (n + 1} %, then the new average is

(n—1) 4 +nx, nd+{n+l)x,
U
(n+Ad+nx,
e = o {dy A+x
BHLU-2i1
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